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Write the trigonometric expression as an algebraic expression.
5. cos(aréos x —arcsin x)

é_"a(‘()/u:‘),f X)L’)r(/.’/(_//n)() + 5-//)((),((0_/} )J\/')/ﬂ/(J/ » X )

< T+ XK ,
= iy B

JI-x°
Ji-x*

—
A v L
: 5.4 Extra Practice - Date_1(] 1] | _Block 21/
—
1. Find the exact value ofcos%cos?—;r—sin%sin%g— cat (Fo~ )
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2. Find the exact value of sine, cosine, and tangent of the angle by using the sum or difference (\
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Find the exact value of the trigonometric function given that sinu = ——2% and cosv = —% . (Both are in Quadrant
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cos(u +v) \ 4. tan(u —v)
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In 7 - 8, verify the identity.
7. sin(37 - x)=sinx
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8. cos(x+ y)+ cos(x - y)=2c0sxcos y
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